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PHILOSOPHY
( General )

( Logic )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

fRafRewra Aot Tet fm

(a) Is shorter truth-table method a decision
procedure?

5 3Ty Oiferl o < s oS 2w

(b) State.the rule of Constructive Dilemma
(CD).

Constructive Dilemma (CD)¥ f¥awehi
TeE

A9/843 { Turn Over )



(2)

{c) Give one example of singular proposition.

(d)

(e)

(f)

®
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GFF 67T BT Tz A

What is the sign for existential quantifier?

SRgEe ARy fowd &2

“Law of causation is a material ground of
induction.”’ ( Write True or False )

IR Rt werews gz s 1
(5101 =1 iy o)

Why is the conclusion of scientific
induction certain?

wafAe e Frare ffve o [ 2

“Induction by Parity of Reasoning is a
form of Induction proper.”
( Write True or False )

gf AU AT HRT 1 S0l
(o 1 i )

{ Continued )

2. Write short notes on the following :

(3)

2x4=8

fRafaRears vy Gt o

(a)

(b}

(c)

(d)

Inductive leap

SIS S

Plurality of causes

CICISAERE I

Propositional function

oy R

General proposition

YA /S T+

| 3. Answer any three of the following questions :

5x3=15

FafiRe o R @l R e

(a)

A9/843

Symbolize the following sentences by using

quantifiers : 1x5=5

faffis IFPHE ARTRR RTS doRR
FIS oA 91 :

(i) Everything is momentary.
el T8 W FEH |
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(b)

{c)

A9/843

(4)

(i) No Philosophers are realist.
R TR TR IR |

(iii) All Scientists and Mathematicians
are Philosophers.

e R wig sftew 2w v |
(iv) Some people are not reliable.

Regar wrp e Rewdh

(v) Some animals are intelligent.

Rgmm o = 3fRem

Distinguish between individual variable and
property variable. S

I fvire v W 99 Rk woRe TEe
1=l foram o

Determine the validity and invalidity of the
following statements with the help of sorter

truth-table method : 2V4x2=5
v 311 el *rafs STawe fRafife SRz
Ayl I S(aLe! AT =4

i) (p-a>(p-9

(i) {(~pv~q-p}>~q
{ Continued )

(S)

(d) Write the differences between Scientific and
Unscientific induction. s

T 9% WISHE JEE IEe 9
NYFIAR o1 1

(e) What do you mean by the principle of
uniformity of nature? 5

iR arel R foweet B qan2

4. What is formal proof of validity? Describe the
strategies for constructing formal proof of
validity. 2+8=10
@eR gaeE amd 57 TR ANHTm 4R

CRMETTR HICAGA 341 |

Or/S%[1
Construct formal proof of validity for the
following : 5+5=10
PaRRERRR (IyeR g o M
(i) 1. (AvG)DS
2. AT/~S
(i) 1. DD(AVC)
2. D~A/:-C
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(7)

(6)
Or/Sn
5. What is shorter truth-table method? Why is it imilarities and
called the method of ‘Reductio Ad Absurdum’? What is analogy? State. the. s‘. o fes d
Explain the mechanism of shorter truth-table differences between unscientific induction an

2+8=10
method with an example. 2+2+6= analogy.
P r2+6=10 TP FF @A? RS W

AP TGS 4 FPD E AP S
5] 9G-SOl afe I QA ? W Ry werafd = |

M @S I I W ? T Fe-Siferdl S 1o * ke k
M &S o TIRRI CIee IR 31 |

Or/9<1

Define cause. Explain the qualitative
characteristics of cause. 2+8=10

FRR A 71 | TR @IS FTHPHR T I |

6. What is quantification? Explain the procedure
of symbolizing the traditional A, E, I and O
proposition by means of quantification. 2+8=10

Ao 2RI SEe (Mafds A, E, I 9=
O JE YIS Foi@ AN 91 AfFAH! I 40 |
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